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Instructions :

GO0y :

Note :
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(1) Check the question paper for faimess of printing. If there is any lack of fatrness,
inform the Hall Supervisor immediatcly. '

(2) Use Blue or Black ink tv write and underline and penal to draw diagrams.

ugd -1 /PART -1
2ieomss darmssaesn e welisab. 15x1=15

Qasr@PEsuul@earer prsng wrHm e sefld Wsepd goyenLw
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Answer all the questions.

Choose the most npproprintu answer from the given four alternatives and write
the option code and the corresponding answer,
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1.

aps saflloQund gevvapapudd pmidamenbs sppsd uaUEESOULLE 7

(<) e g (<) QPBHOMD FerpanD
(@) pransnd gaagpap (m) @reimLmb geapenp
Which generation of computer used JC's ?

(3)  Third generation (b} First generation

(c) Fourth generation (d) Second generation

uelises sefupp claurisaag saliss, seuduwramupen wl.HCw GHléED
vesflullen ybsksET cra SDP&EELUPG

(=) pmrdaansgd (=) efleups Gy

(@) Ofigse (FF) D(MeuULIESD

Omitting delails inessential to the task and representing only the essential features of the task
is known as :

(a) Composition (b) Specification
(c) Decomposition ' {d) Abstraction

Epsargmib VLGEG iz Yap QuUkiGd ? |

i:=0

whilei # 5

ir=i+l
(1) 6 (p) 4 (@0 (FF) 5
How many times the loop is iterated ?

i:=0

whilei # 5

i:=i+41

(a) 6 (®) 4 © 0 @d 5



;

Spsaan bt T auerGludme QswupGHurgd ?

() > ()t (R) & (/) %

Which of the following is the scope operator ?

(@} > b) (€) & d %

Camawpp Weanangssme APssT5E56E Lfibrppd Galeug aTem
Siossludépg.

() msTip@ (&) Guoreiy, (@) dogonGi (7)) awGuid

Distributing unwanted e-mail to others is called

() scam ®) fraud @© spoofing  (4) spam

C++ - agbd Qsupeh &6 wrhl Qsubglurs wauBSsU-
uOSpy.

(a) - (<) + (@) = (F) =
InC#++______is used for pointer lo a variable.

(@) - ®) + )+ @ °

Deneupauaraupiler ergy mevey Gamdli wL&s ?

(&) i (&) for (@) do-while (/) switch
Which of the following is the Entry Control loop ?

(a) if () for () do-while (d) switch
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pflrnbmdiaren s 0 cegrndlan @nodniWgseigy
Com S ifldnengmy paey inrHiD

(«¥,) 10enempgy 00y 061 Ldinammn

(@) gray e & ofhinapmid

(r) Bevengmy ooy wionppid

Legal revogmition for transactions are carried out by

(@)  Electronic Data Transfer

(1) Electronic Data Interchange

(c) Data Interchange

(d) Electronic Data Exchonge

srayameyn, Qswpspsamanyd gm QUImET erergyl UDTLDDESET QEIDTaL)
Seensy mess@n Qsusom b :

(84) SAMIDNESD () ud@ImauréEsD
(%) wyyfio (7) eap@ururésnd

The mechanism by which the data and function are bound together into a single unit is
known as :

{(a) Abstraction (b) Polymorphism

{c) Inheritance (d) Encapsulation



10.

#include<iostream>
using, namespace std;

int main()

{
int i=1, sum=0;
while(i<=10)
{
sum=sum+i;
i+
}
cout<<sum;
return 0;
}
GuGe o erer flyellan QauafluiF wng ?
(1) 55 ()54
#include<iostream>

using namespace std;
int main()
{

int i=1, sum=0;

while(i<=10)

{
‘sum=sum+i;
i++;
)
cout<<sum;
return 0;
)
The output for the above snippet is :
@) 55 (b) 54

(@) 51

51

d) 50

[ &aiys / Tum over
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11,

12,

13.

14.

srarprusefled gum CartnQar inpEuwdle LweuBHEUILED @gjlé@m@ cilens

(<) F5 (eap) 172 (@) Fo () F4
The shorteut key used to rename a file tn Windows,
(@) F5 L) F2 {c) F6 (d) F4

Sereumn parugesE SPssaTLaupner aps s Aussuudwo ?
add display(add &); // add eratug @enégpedlsn Quui.

(21) paed 268 (@) gravenoe b8

(Q) SieTymaseT @dars asd () SIT(HESHEHLET Talgl) &S

Which of the following constructor is executed for the following prototype ?
add display(add &); // add is a class name.

(@) Copy Constructor {b) Default Constructor

() Non-Parameterized Constructor (d) Parameterized Constructor

safluGurdliien awwé tewassdld O Hsfldn araraflaans erausumpy @HUEILL-
uphémg ? , |

(=1) Cauir(® femd (&) vl (@) 9 () Bl
Which refers to the number of bits processed by a computer’s CPU ?
(a) Word length (b) Byte {c) Bit (d) Nibble

ear () Qwés Siewlily ephi@id cusd) :
(1) e-cmenwrar Gprbd GaversswD
() 57e sAfGLmsL:

(@) urgariy Cuerdren

() euenpsea LWETT Bl (PHD
Interactive aperating system provides :

(@)  Real Time Processing

(b)) Data Distribution

(€) Security Management

(d) Graphics User Interface
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15, Gédumouaraupmiet erg g CISC Qawedl @b ?
(<) Pentium I (&) Intel P6 (@) Pentium IV () AMD K6
Which of the following is n CISC processor ?

(@) Pentium I (b) Intel P6 (c) Pentium IV (d) AMD K6

UGS - 11/ PART -1

Gily : soaCugd o AamisEnsd oaLwediisaen. dlem e 24 -5@
sLLmnuwons el waléaayb. 6x2=12

Note : Answer any six questions. Question No. 24 is Compulsory.
16. opgemen floaeusid wppi @rerLmd Heew Haearausd - Cagubsgs.

Distinguish Primary and Secondary Memory.

17. (1324), -6@ Hayren Ldenn arananns WIHYS.

(1324), - convert to equivalent Decimal number.

18. U LWt GuEs Sl e eTaen ?

What is Multi user operating system ?

19. const Aimliy Qs LPH TOEHESTHLE Sy EHILY T(HS.

Write a short note on const keyword with example.

20. void gyey euemsuder (pslusg kST Wanes ?

What are the importance of void data typé ?
[ Amoys / Tum over
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21, wmtan erarpnd caman 7
What are Warez ?

2. gy Coarasaen aghd wmd Cal Gurflasau Lin
List the warnh mmgnes sopportnd by Tamsl Languagy

). Gpfiperp - asprunieass
Detine an alpresthen

4. Sdrnms Hrdian Jaah . g
Firx lodes wmtreqom»
UMNgE Rsmeepucr Rl
M rraind §

{
e L

hwr=Ciitien)
QOIS € s Sl
return O
I
Write the cutput of S kolowing progrem,
Firv hade<aowtreamn s
uMng namespade sad
st matny )
i
my
foo{pQa<iyee)
Cout << Congll
return
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Liwgh - 111/ PART - 111

@)Tﬁl"-"-l: asteag o0 @laninenshe, dhem wieflamayn.  oblemn wremr 33 -6

si-Lmuons ol wallisann hx3=18
Nole : Answer any six questions, Question No. 33 is Compulsory.
‘25, o spHdl Quiligennd upfls @i s
Write a note on Recvele bin
2. oF Qabgoea smallbinung swamsfo Qarerar Gauaguemal wreneu ?
What are the points to be noted while deriving a class ?
27, Qudopeopdo, Heow caarm gAudLuuGdamg ?
How is state represented in algorithms ?
28. XOR aumllefier Guoliuliquid apgs.
Give the Truth Table of XOR gate.
29. isupper( ) W@ toupper( ) Qswupsamsefien Camurp wng ?
What is the difference between isupper( ) and toupper( ) functions ?
30. CD widgw DVD - Caunub®sgs.
Differentiate - CD and DVD.
3. Herussdar GRAUOLEsss ApliGudseaa ubll e(ogs.
Write the significant features of monitor.
32, Sl TEMPIE TS 7 DG AUMEHEOET T(HHIS.
What is an array ? Wirile its types.
33,

do-while Léfaans LWELEHES 5 WD 1 ey L.aTaT aTamsaeT Qeuaflulfi C++
By erapgs.
Write a C++ program to display number from 5 to 1 using do-while loop.

[ Hyliys / Turn over
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L@ - IV/PART - IV
. o 5x5=25
GO0y : simangg SarssErsEL elemLwalssa|w.

Note : Answer all the questions.

34. (&) g seflLGurPluliian @jgdiuent UNGIGETS Qgefleures cllenssLULSHIL-AT

eferas.
SV
(<3p) uTeud s Serlifdr smEHIMm UDD eAaré@s. Gogd BB vweurpser
wreney ?

(3) Explain the basic components of a computer with a neat diagram.
OR
(t) * Explain the concept of a Distributed Operating System along with its advantages.

35 (&) Yeraumeuateuperp @mHlee e ayeld sl (Hs.
) (=21t O @ (~12)0+ (50
| SO
(o) Qewpaap vallBGLY maprd aae ? Aswpsmy vallbiGuddsra
dldpepser wrea ?
(1) Perform binary addition for the following.
@ (~21);9+ 6o (i) (~12)10+ 15y
OR

(b) What is function overloading ? What are the rules for function overloading ?

36. (<2i) ROM -ér cussenetes Pl oflerdsions e (pgis.
SV
() if-clse wHPD swih sppsERsSem_Guure widu Cupurpsse eapss.
(a) Explain about the types of ROM.
OR

) © Write the differences between if-clsc and switch statement.
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37. () QauafuS s aanprd arenar ? gCrId epen QeuefSL® sngenusener
aflené (s,

(a)  What is an output unit ? Explain any three output devices.
Siveogl / OR

(<) Gemaumidp Hycfian, QeaueMiSien erapgs.”

(b) Write the output of the following program.

#include<iostream>

using namespace std;

class student
{
int mo, marks;
public:
student(int r,int m)
{
cout<<"Constructor'<<endl;
mo=t;
marks=m;
)
void printdet( )
{
marks=marks+30;
cout<<"Roll no :"<<mo<<"\n";
cout<<"Marks :*<<marks<<endl;
}
):
int main( )

{
student s(14,70);

s.printdet( );
cout<< "Back to Main'";

return 0;

[ fpuys / Tum over
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(1) wryfwgden LG cumasmen aleuflsaaLo.
Explain the different types of inheritance.

(@)

2ivevgl / OR

(&) Wemeumid C++ fyelled e_erer Nenpaenar Hmesis.
Debug the following C++ program.

(b)

Qutput :

Total area ¢ 35

Program :

%include<iostream>
using namespace std:

CLASS Shape

{

Private ()

int count
Protected;
int width;
int height;
PUBLIC;
Void setwidth [int w]
{
width=w;
B
void setheight (int h)
height=h;
}
|
Class rectangle : : Public Shape
{
Public.
int getarca [ ]
{
return (width * Height);
L
I
int MAIN()
{

rectangle rect :

rect. setwidth(5);

rect.setheight(7);

cout>>"Total area : "<<rect.getarea( )<<endl;

return 0;



